## Conformally recurrent $(\kappa, \mu)$ -contact manifolds

Amalendu Ghosh<sup>i</sup> Shambazar A.V. School 88. Shambazar Street, Kolkata : 700 005, India aghosh\_70@yahoo.com

Received: 24/05/2006; accepted: 08/11/2007.

Abstract. In this paper it is shown that a conformally recurrent  $(\kappa, \mu)$ -contact space  $M^{2n+1}$ , (n > 1) is locally isometric to either (i) unit sphere  $S^{2n+1}(1)$  or (ii)  $E^{n+1} \times S^n(4)$ 

Keywords: Confomally recurrent, Contact metric manifolds, tangent sphere bundle

MSC 2000 classification: 53C15,53D15

## 1 Introduction

A Riemannian manifold (M, g) is said to be conformally recurrent [1] if there exist a 1-form  $\pi$  such that the conformal curvature C satisfies  $\nabla C = \pi \otimes C$ , where  $\nabla$  is the Levi-Civita connection of g. This type of manifold appears as a generalization of conformally symmetric manifold, introduced and studied by Chaki and Gupta [7]. The aim of this paper is to study a conformally recurrent  $(\kappa, \mu)$ -contact space. By a  $(\kappa, \mu)$ -contact space we mean a contact metric manifold  $M^{2n+1}(\eta, \xi, \varphi, g)$  in which the curvature tensor R satisfies

$$R(X,Y)\xi = \kappa(\eta(Y)X - \eta(X)Y) + \mu(\eta(Y)hY - \eta(X)hY),$$

for some constants  $\kappa$  and  $\mu$  on M and  $2h = L_{\xi}\varphi$ . Such class of space was introduced in [5] and studied in depth by Boeckx in [6]. Actually this class of space was obtained through D-homothetic deformation [11] to a contact metric manifold whose curvature satisfying  $R(X,Y)\xi = 0$ . There exist contact metric manifolds for which  $R(X,Y)\xi = 0$ . For instance the tangent sphere bundle of flat Riemannian manifold admits such structure. Further it is well known that(see [5]) the tangent sphere bundle  $T_1M$  of a Riemannian manifold of constant curvature c is a  $(\kappa, \mu)$ -contact metric space where  $\kappa = c(2-c)$  and  $\mu = -2c$ . Thus in onehand there exists examples of  $(\kappa, \mu)$ -contact manifolds in all dimensions and on the other this class is invariant under D-homothetic deformation. It is evident that the class of  $(\kappa, \mu)$ -contact manifolds contains the class of

<sup>&</sup>lt;sup>i</sup>The author is thankful to the referee for constructive suggestions.

Sasakian manifolds, in which  $\kappa = 1$ . In [8] the author and Sharma proved that a conformally recurrent Sasakian manifold is locally isometric to a unit sphere  $S^{2n+1}(1)$ . Generalizing this for a  $(\kappa, \mu)$ -contact manifold we prove

**1 Theorem.** Let  $M^{2n+1}$ , (n > 1) be a conformally recurrent  $(\kappa, \mu)$  -contact space. Then  $M^{2n+1}$  is locally isometric to either (i) unit sphere  $S^{2n+1}(1)$  or (ii)  $E^{n+1} \times S^n(4)$ .

**Preliminaries** A differential 1-form  $\eta$  on a (2n + 1) dimensional differential manifold M is called a contact form if it satisfies  $\eta \wedge (d\eta)^n \neq 0$  everywhere on M. By a contact manifold  $(M, \eta)$  we mean a manifold M together with a contact form  $\eta$ . For a contact form  $\eta$  there exists a unique vector field  $\xi$ , called the characteristic vector field, such that  $\eta(\xi) = 1$  and  $d\eta(\xi, X) = 0$ , for any vector field X on M. Moreover, it is well known that there exists a Riemannian metric g and a (1-1) tensor field  $\varphi$  satisfying  $d\eta(X,Y) = g(X,\varphi Y)$ ,  $\eta(X) = g(X,\xi)$ ,  $\varphi^2 X = -X + \eta(X)\xi$ . From these we have  $\varphi \xi = 0$ ,  $\eta o \varphi = 0$ ,  $g(\varphi X, \varphi Y) =$  $g(X,Y) - \eta(X)\eta(Y)$ . The manifold M equipped with the structure  $(\eta, \xi, \varphi, g)$ is called a contact metric manifold. Denoting by L the Lie differentiation and R the curvature tensor of M, we define the operator h and l by  $h = \frac{1}{2}L_{\xi}\varphi$  and  $l = R(.,\xi)\xi$ . The (1-1) tensors h and l are self adjoint and satisfy  $h\xi = 0$ ,  $l\xi = 0$ ,  $Tr\varphi = Trh = Tr\varphi h = 0$ ,  $h\varphi = -\varphi h$ . For a contact metric manifold we also have (see [2] and [4])

$$\nabla_X \varphi = -\varphi X - \varphi h X, \qquad (2.1)$$

$$\nabla_{\xi} h = \varphi - \varphi l - \varphi h^2, \qquad (2.2)$$

A contact metric manifold is K-contact ( $\xi$  is Killing ) if and only if h = 0. Further a contact metric manifold is Sasakian if and only if

$$R(X,Y)\xi = \eta(Y)X - \eta(X)Y.$$

We now give the definition of a  $(\kappa, \mu)$ -contact space. By a  $(\kappa, \mu)$ -nullity distribution on a contact metric manifold  $M^{2n+1}(\eta, \xi, \varphi, g)$  for the pair  $(\kappa, \mu) \in \mathbb{R}^2$  is a distribution

$$\begin{split} N(\kappa,\mu): p \to N_p(\kappa,\mu) &= \{ Z \in T_p M | R(X,Y) Z = \\ &= \kappa(g(Y,Z)X - g(X,Z)Y) + \mu(g(Y,Z)hX - g(X,Z)hY) \}. \end{split}$$

A contact metric manifold M is said to be a  $(\kappa, \mu)$ -contact space if  $\xi$  belongs to  $(\kappa, \mu)$ -nullity distribution of M i.e. (see [5])

$$R(X,Y)\xi = \kappa(\eta(Y)X - \eta(X)Y) + \mu(\eta(Y)hY - \eta(X)hY).$$
(2.3)

If Q denote the Ricci operator and r denote the scalar curvature of M, then the following relations are known for a  $(\kappa, \mu)$ -contact space. For details we refer [5].

$$h^2 = (\kappa - 1)\varphi^2, \kappa \le 1, \tag{2.4}$$

and  $\kappa = 1$  if and only if M is Sasakian.

$$Q\xi = (2n\kappa)\xi,\tag{2.5}$$

$$(\nabla_X h)Y - (\nabla_Y h)X = (1 - \kappa)[2g(X, \varphi Y)\xi + \eta(X)\varphi Y - \eta(Y)\varphi X] + (1 - \mu)[\eta(X)\varphi hY - \eta(Y)\varphi hX],$$
(2.6)

$$QX = [2(n-1) - n\mu]X + [2(n-1) + \mu]hX + [2(1-n) + n(2\kappa + \mu)]\eta(X)\xi, \quad (2.7)$$

$$r = 2n[2(n-1) + \kappa - n\mu], \qquad (2.8)$$

The Weyl conformal curvature tensor C on a (2n + 1), (n > 1) dimensional Riemanniam manifold is defined by

$$C(X,Y)Z = R(X,Y)Z - \frac{1}{2n-1}[g(QY,Z)X - g(QX,Z)Y + g(Y,Z)QX - g(X,Z)QX] + \frac{r}{2n(2n-1)}[g(Y,Z)X - g(X,Z)Y].$$
(2.9)

From this we also have (see [10])

$$(divC)(X,Y)Z = \frac{2(n-1)}{2n-1} [g(\nabla_X Q)Y, Z) - g(\nabla_Y Q)X, Z) - \frac{1}{4n} \{ (X.r)g(Y,Z) - (Y.r)g(X,Z) \}.$$
 (2.10)

Finally, we recall the notion of a D-homothetic deformation [11] on a contact metric manifold  $M^{2n+1}(\eta, \xi, \varphi, g)$ . By a D-homothetic deformation we mean a change of structure tensors of the form  $\overline{\eta} = a\eta$ ,  $\overline{\xi} = \frac{1}{a}\xi$ ,  $\overline{g} = ag + a(a - 1)\eta \otimes \eta$ , where *a* is a positive constant. It is well known that  $M^{2n+1}(\overline{\eta}, \overline{\xi}, \overline{\varphi}, \overline{g})$  is also contact metric manifold. A D-homothetic deformation with constant *a* transforms a  $(\kappa, \mu)$  -contact space into a  $(\overline{\kappa}, \overline{\mu})$ -contact space(see [5]), where  $\overline{\kappa} = \frac{\kappa + a^2 - 1}{a^2}$  and  $\overline{\mu} = \frac{\mu + 2a - 2}{a}$ .

PROOF. [3 Proof Theorem 1]

**Lemma.** For a  $(\kappa, \mu)$ -contact space,  $\nabla_{\xi} h = \mu h \varphi$ .

PROOF. Setting  $Y = \xi$  in (2.3), and by definition of l and  $h\xi = 0$  we have  $lX = \kappa(X - \eta(X)\xi) + \mu hX$ . Using this in (2.2) and recalling (2.4) we get the required result.

We now prove our main theorem.

Since M is  $(\kappa, \mu)$ -contact metric space we have  $\kappa \leq 1$ . For  $\kappa = 1$  the manifold

becomes Sasakian and the result follows from [8]. So we assume that  $\kappa < 1$ . By hypothesis we have

$$(\nabla_W C)(X, Y)Z = \pi(W)C(X, Y)Z. \tag{3.1}$$

Contracting (3.1) over W provides

$$(divC)(X,Y)Z = g(C(X,Y)Z,P).$$
(3.2)

Where P is the recurrence vector metrically associated to the recurrence form  $\pi$ . Since  $\kappa$  and  $\mu$  is constant, from (2.8), we see that r is also constant. Applying this consequence in (2.10), (3.2) reduces to

$$[g(\nabla_X Q)Y, Z) - g(\nabla_Y Q)X, Z)] = \frac{2n-1}{2(n-1)}g(C(X,Y)Z, P).$$
(3.3)

Next, differentiating covariantly (2.5) along an arbitrary vector field X and using (2.1) we get

$$(\nabla_X Q)\xi = Q\varphi X + Q\varphi h X - 2n\kappa(\varphi X + \varphi h X).$$
(3.4)

Setting  $Z = \xi$  in (3.3) and using (3.4) we find that

$$g(Q\varphi X + \varphi QX + Q\varphi hX - h\varphi QX - (4n\kappa)X, Y) = \frac{2n-1}{2(n-1)}g(C(X,Y)\xi, P). \quad (3.5)$$

Replacing X by  $\varphi X$ , Y by  $\varphi Y$  and Z by  $\xi$  in (2.10) and by virtue of (2.3), (2.5), it follows that  $C(\varphi X, \varphi Y)\xi = 0$ . Thus setting  $X = \varphi X$ ,  $Y = \varphi Y$  in (3.5) and making use of (2.5), (2.7) and the last equality we obtain

$$2\kappa + \mu - \mu\kappa + n\kappa = 0. \tag{3.6}$$

Taking the covariant differentiation of (2.7) and using (2.1) gives

$$(\nabla_X Q)Y = [2(n-1) + \mu](\nabla_X h)Y - [2(1-n) + n(2\kappa + \mu)][g(\varphi X - \varphi hX, Y)\xi + \eta(Y)(\varphi X + \varphi hX)]. \quad (3.7)$$

Interchanging X and Y in (3.7) and subtracting the resulting equation from (3.7) and by virtue of (2.6) and (3.6) we find that

$$g(\nabla_X Q)Y, Z) - g(\nabla_Y Q)X, Z)$$
  
=  $(3\mu - n\mu - \mu^2 + 2n\kappa)[\eta(X)g(\varphi hY, Z) - \eta(Y)g(\varphi hX, Z)].$  (3.8)

Thus through (3.8), (3.3) reduces to

$$\frac{2(n-1)}{2n-1}g(C(X,Y)Z,P) = (3\mu - n\mu - \mu^2 + 2n\kappa)[\eta(X)g(\varphi hY,Z) - \eta(Y)g(\varphi hX,Z)]. \quad (3.9)$$

Setting Z = P and  $X = \xi$  in (3.9) yields

$$(3\mu - n\mu - \mu^2 + 2n\kappa)g(\varphi hY, P) = 0.$$

So we have the two possible cases:

$$(i)3\mu - n\mu - \mu^2 + 2n\kappa = 0, \qquad (3.10)$$

$$(ii)h\varphi P = 0. \tag{3.11}$$

**Case** (i) Solving (3.6) and (3.10) we obtain the following solutions  $\kappa = \mu = 0, \ \kappa = \mu = n + 3 \text{ or } \kappa = \frac{n^2 - 1}{n}, \ \mu = 2(1 - n).$ When  $\kappa = \mu = 0$ , we have from (2.3)  $R(X,Y)\xi = 0$ , and applying Blair's theo-

When  $\kappa = \mu = 0$ , we have from (2.3)  $R(X, Y)\xi = 0$ , and applying Blair's theorem (see [3]) we see that M is locally isometric to the product  $E^{n+1} \times S^n(4)$ . Since  $\kappa < 1$  and n > 1, the last two solutions are not possible.

**Case (ii)** Operating (3.11) by *h* and in view of (2.4) it follows that  $P = \pi(\xi)\xi$ . Use of this in (3.1) provides  $(\nabla_W C)(X, Y)Z = \pi(\xi)\eta(W)C(X, Y)Z$ . Next, replacing *W* by  $\varphi^2 W$  and then contracting over *W* the last equality gives

$$(divC)(X,Y)Z = g((\nabla_{\xi}C)(X,Y)Z,\xi).$$
(3.12)

Setting  $X = \xi$  in (3.7) and using  $\varphi \xi = h \xi = 0$  and through the lemma yields

$$(\nabla_{\xi}Q)Y = \mu[2(n-1) + \mu]h\varphi X. \tag{3.13}$$

Further taking the covariant differentiation of (2.3) along  $\xi$  and applying the **lemma** provides

$$(\nabla_{\xi} R)(X, Y)\xi = \mu^2 \{\eta(Y)h\varphi X - \eta(X)h\varphi Y\}.$$
(3.14)

On the other hand from (2.9) and together with the help of (3.13), (3.14) and making use of the fact that the scalar curvature is constant we have

$$g((\nabla_{\xi}C)(X,Y)Z,\xi) = \frac{2\mu(\mu-1)(n-1)}{2n-1} \{\eta(Y)g(h\varphi X,Z) - \eta(X)g(h\varphi Y,Z)\}.$$
 (3.15)

Comparing (3.15) with (3.12) and then the use of (2.10) yields

$$\frac{2(n-1)}{2n-1} [g(\nabla_Y Q)X, Z) - g(\nabla_X Q)Y, Z) = \frac{2\mu(\mu-1)(n-1)}{2n-1} \{\eta(Y)g(h\varphi X, Z) - \eta(X)g(h\varphi Y, Z)\}.$$
 (3.16)

Finally, setting  $Y = \xi$  in (3.16) and recalling (3.4) and (3.13) we obtain

 $Q\varphi X + Q\varphi h X - 2n\kappa(\varphi X + \varphi h X) - (2n-1)\mu h\varphi X = 0.$ 

Hence in view of (2.7) the last equation implies that

$$2\mu + 2n\kappa - n\mu = 0. \tag{3.17}$$

Solving (3.6) and (3.17) it follows that

 $\kappa = \mu = 0$  or  $\kappa = \frac{(n+1)^2 - 3}{n}$ ,  $\mu = \frac{2\{(n+1)^2 - 3\}}{n-2}$  (in the last solution  $n \neq 2$ , because if n = 2, then from (3.17) it follows that  $\kappa = 0$  and hence  $\mu = 0$ ). The formar shows that M must be locally isometric to the product  $E^{n+1} \times S^n(4)$ , and the later leads to a contradiction as  $\kappa < 1$ . This completes the proof. QED

## References

- T. ADATI AND M. MIYAZAWA: On a Riemannian space with recurrent conformal curvature, Tensor(N.S.)18 (1967), 348–354.
- [2] D.E. BLAIR: Contact manifolds in Riemannian geometry, Lecture Notes in Mathematics, Springer-Verlag, Berlin, 509 (1976).
- [3] D.E. BLAIR: Two remarks on contact metric structure, Tôhoku Math. J. 29 (1977), 319– 324.
- [4] D.E. BLAIR AND J.N. PATNAIK: Contact manifolds with characteristic vector field annihilated by the curvature, Bull.Inst.Math.Acad.Sinica 9 (1981), 533–545.
- [5] D.E. BLAIR, T. KOUFOGIORGOS AND B.J. PAPANTONIOU: Contact manifolds satisfying a nullity condition, Israel J. Math. 91 (1995), 189–214.
- [6] Ε. BOECKX: A full classification of contact metric (κ, μ)-spaces, Illinois J. Math. 44 (2000), 212–219.
- [7] M.C.CHAKI AND B.GUPTA: On conformally symmetric spaces, Indian Journal of Math. 5 (1963), 113–122.
- [8] A.GHOSH AND R. SHARMA: Some results on contact metric manifolds, Annals of Global Analysis and Geometry 15 (1997), 497–507.
- [9] T. KOUFOGIORGOS: Contact Riemannian Manifolds with Constant φ-Sectional curvature, Tokyo J. Math. 20 (1997), 13–22.
- [10] R. SHARMA: Proper conformal symmetries of spacetimes with divergence-free Weyl conformal tensor, J.Math.Phy. 34 (1993), 3582–3587.
- [11] S. TANNO: The topology of contact Riemannian-manifolds, Illinois J.Math. 12 (1968), 700-717.